
KENDRIYA VIDYALAYA SITAPUR SHIFT 1 
PERIODIC TEST 1      SOCIAL SCIENCE   CLASS IX 

TIME 90 MIN           MM 40 
Q1. Which group of people did not join the Jacobian culb?      1 
        A) ArƟsans   B) Shopkeepers   C) Daily wage workers   D) Rich people 
       Ǒकस समूह के लोग जकैोǒबन Èलब मɅ शािमल नहȣं हुए? 

       A) कारȣगर B) दकुानदार C) Ǒदहाड़ȣ मजदरू D) अमीर लोग 
Q2. French women demanded the  which rights?                1 
        A) To vote B) To be elected to the assembly  C) To hold poliƟcal office D) All of the above 
     ĥांसीसी मǑहलाओं ने Ǒकस अिधकार कȧ मांग कȧ? 

   A) वोट देने के िलए                             B) ǒवधानसभा के िलए चुने जाने के िलए 

      C) राजनीितक पद संभालने के िलए        D) उपरोƠ सभी 
Q3. The eastern most longitude of india is?                  1 
        भारत का सबस ेपूवȸ देशांतर है? 
      A) 97°25 E       B) 68°7 E     C)77°6 E     D) 82°3 E 
Q4. The tropic of cancer does not pass through?        1 
      A) Rajasthan              B) Odisha              C) Chaƫsgarh            D) Tripura 
      कक[  रेखा कहाँ से होकर नहȣं गुजरती है? 

   A) राजèथान B) ओǑडशा C) छƣीसगढ़ D) ǒğपुरा 
Q5. Finance raised to operate a business is called?       1 
      A) Labour       B) Enterprise       C) Land            D) Capital 
      Ǒकसी åयवसाय को संचािलत करने के िलए जटुाए गए ǒवƣ को Èया कहा जाता है? 

   A) Įम          B) उƭम                 C) भिूम                     D) पूंजी 
Q6. The new ways of farming need in agriculture?       1 
      A) Land       B) Capital        C) Machinery        D) All of the above 
        कृǒष मɅ खेती के नए तरȣकɉ कȧ आवæयकता? 

    A) भूिम B) पूजंी C) मशीनरȣ D) उपरोƠ सभी 
Q7. Working capital stand for?                  1 
       A) Tools machines and buildings              B) Raw materials and money in hand 
       C) Total share capital                D) Fixed deposit in financial insƟtuƟons 
      काय[शील पूजंी का मतलब Èया है? 

    A) उपकरण मशीनɅ और इमारतɅ            B) कÍचा माल और हाथ मɅ पैसा 
    C) कुल शेयर पूजंी                                  D) ǒवƣीय संèथानɉ मɅ साविध जमा 
Q8. Who was not military leader in Pakistan?        1 
      A) Pervez Musharraf   B) Ayub khan  C) Zia ul haq  D) Imran khan 
      पाǑकèतान मɅ सÛैय नेता कौन नहȣं था? 

   A) परवेज़ मुशर[फ     B) अयूब खान    C) ǔजया उल हक     D) इमरान खान  
Q9. Consider the following statement and choose the correct opƟon.    1 
     1. Democracy is based on a fundamental principle of poliƟcal equality.  
     2. In a democracy each adult ciƟzen must have one vote and each vote must have       
         One vote. 
     OpƟon  
    A) Only 1 is correct        B) Only 2 is correct      C) Both statement are incorrect  
    D) Both are correct and statement 2 is correctly explains the statement 1 
    िनàनिलǔखत कथन पर ǒवचार करɅ और सहȣ ǒवकãप चुनɅ। 

      1. लोकतंğ राजनीितक समानता के मलूभूत िसƨांत पर आधाǐरत है। 
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      2. लोकतंğ मɅ Ĥ×येक वयèक नागǐरक के पास एक वोट होना चाǑहए और Ĥ×येक वोट के िलए एक वोट होना 
चाǑहए।                             

      ǒवकãप 

     A) केवल 1 सहȣ है B) केवल 2 सहȣ है C) दोनɉ कथन गलत हɇ 
     D) दोनɉ सहȣ हɇ और कथन 2, कथन 1 कȧ सहȣ åयाÉया करता है 
Q10. Consider the following statement and choose the correct opƟon.           1  
      1. The land mass of india has an area of 3.28 million square km. 
      2. indias   total area accounts for about 6.4 percent of the total geographical area of the 
          World.        
       OpƟon  
        A) Only 1 is correct        B) Only 2 is correct      C) Both statement are incorrect  
        D) Both are correct and statement 2 is correctly explains the statement 1 
      िनàनिलǔखत कथन पर ǒवचार करɅ और सहȣ ǒवकãप चुनɅ। 
       1. भारत कȧ भूिम का ¢ेğफल 3.28 िमिलयन वग[ Ǒकमी है। 

       2. भारत का कुल ¢ेğफल ǒवƳ के कुल भौगोिलक ¢ेğफल का लगभग 6.4 Ĥितशत है। 

        ǒवकãप 

     A) केवल 1 सहȣ है      B) केवल 2 सहȣ है        C) दोनɉ कथन गलत हɇ 
     D) दोनɉ सहȣ हɇ और कथन 2, कथन 1 कȧ सहȣ åयाÉया करता है  
Q11. Consider the following statement and choose the correct opƟon.                             1 
        1. In village across india farming is the main producƟon acƟvity. 
        2. the other non farming acƟviƟes include small manufacturing, transport, shopkeeping. 
              OpƟon  
        A) Only 1 is correct        B) Only 2 is correct      C) Both 1 and 2 are correct  
        D) Both 1 and 2 are incorrect  
       िनàनिलǔखत कथन पर ǒवचार करɅ और सहȣ ǒवकãप चुनɅ। 
         1. भारत भर के गांवɉ मɅ खेती मÉुय उ×पादन गितǒविध है। 

         2. अÛय गैर कृǒष गितǒविधयɉ मɅ छोटे ǒविनमा[ण, पǐरवहन, दकुानदारȣ शािमल हɇ। 

         ǒवकãप 

        ए) केवल 1 सहȣ है                    B) केवल 2 सहȣ है  

        C) 1 और 2 दोनɉ सहȣ हɇ      D) 1 और 2 दोनɉ गलत हɇ 
Q12. Read the passage carefully and give the answer of following quesƟon.      4 
         A democracy requires that the rulers have to aƩend to the needs of the people. A democraƟc government is 
a beƩer government because it is a more accountable form of government. There is another reason why 
democracy should lead to beƩer decisions than any non-democraƟc government. Democracy is based on 
consultaƟon and discussion. A democraƟc decision always involves many persons, discussions and meeƟngs. 
When a number of people put their heads together, they are able to point out possible mistakes in any decision. 
This takes Ɵme. But there is a big advantage in taking Ɵme over important decisions. This reduces the chances of 
rash or irresponsible decisions. Thus democracy improves the quality of decision-making 
      I) A democracy requires ? 
          A) Ruler  B) ConsƟtuƟon C) Peoples parƟcipaƟon D) All of them 
      II) Who lead the beƩer decisions for people? 
          A) Democracy B) Military rule C) Autocracy D) All of them 
      III) Democracy is based on? 
          A) ConsultaƟon   B) Discussion   C) both A and B    D) None of them 
      IV) In which rule, decisions always takes more Ɵme? 
          A) Democracy B) Military rule C) Autocracy D) All of them 
     गƭांश को Úयानपूव[क पढ़Ʌ और िनàनिलǔखत Ĥư का उƣर दɅ। 
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          लोकतğं के िलए आवæयक है Ǒक शासकɉ को लोगɉ कȧ जǾरतɉ पर Úयान देना होगा। एक लोकतांǒğक 
सरकार एक बेहतर सरकार होती है ÈयɉǑक यह सरकार का अिधक जवाबदेह èवǾप होती है। एक और कारण है 
Ǒक लोकतंğ को Ǒकसी भी गैर-लोकतांǒğक सरकार कȧ तुलना मɅ बेहतर िनण[य लनेे चाǑहए। लोकतğं परामश[ और 
चचा[ पर आधाǐरत है। एक लोकतांǒğक िनण[य मɅ हमेशा कई åयǒƠ, चचा[एँ और बैठकɅ  शािमल होती हɇ। जब बहुत 
से लोग एक साथ िसर उठाते हɇ, तो वे Ǒकसी भी िनण[य मɅ संभाǒवत गलितयɉ को इंिगत करने मɅ स¢म होते हɇ। 
इसमɅ समय लगता है. लेǑकन मह×वपूण[ िनण[यɉ मɅ समय लेने का बड़ा फायदा है। इसस ेजãदबाजी या गैर-
ǔजàमेदाराना फैसलɉ कȧ सभंावना कम हो जाती है। इस Ĥकार लोकतंğ िनण[य लनेे कȧ गुणवƣा मɅ सधुार करता है 

        I) लोकतंğ के िलए आवæयक है? 

       A) शासक      B) सǒंवधान    C) जनता कȧ भागीदारȣ      D) ये सभी 
       II) लोगɉ के िलए बेहतर िनण[यɉ का नेत×ृव कौन करता है? 

       A) लोकतंğ      B) सÛैय शासन      C) िनरंकुशता       D) ये सभी 
       III) लोकतंğ Ǒकस पर आधाǐरत है? 

      A) परामश[     B) चचा[     C) A और B दोनɉ           D) इनमɅ से कोई नहȣ ं
       IV) Ǒकस िनयम मɅ िनण[य लेने मɅ हमेशा अिधक समय लगता है? 

      A) लोकतंğ     B) सÛैय शासन     C) िनरंकुशता     D) ये सभी 
 
               SECTION B 
Give the answer in one sentence / one word. उƣर एक वाÈय/एक शÞद मɅ दȣǔजये। 
Q13. What is the name of china´s parliament?       2 
         चीन कȧ संसद का Èया नाम है? 
Q14. Who provide the loans to small farmers in the village palampur?    2  
          पालमपुर गांव मɅ छोटे Ǒकसानɉ को ऋण कौन Ĥदान करता है? 
Q15. What is the length of land boundary of india?      2 
         भारत कȧ èथलीय सीमा कȧ लàबाई Ǒकतनी है? 
Q16. Who had wriƩen the book “ SOCIAL CONTRACT”?       2 
          “सोशल कॉÛĚैÈट” पुèतक Ǒकसने िलखी थी? 
      SECTION C  
Give the answers of the following quesƟon in short answer.    
 िनàनिलǔखत Ĥư का उƣर संǔ¢Ư उƣर मɅ दȣǔजए। 
Q17. Write two demerits of democracy?        2 
         लोकतंğ के दो अवगुण िलǔखए? 
Q18. Why the india opted 82°30´E longitude as standard meridian of india?                2 
          भारत ने 82°30´E देशांतर को भारत के मानक मÚयाƹ रेखा के Ǿप मɅ Èयɉ चुना? 
Give the answers of the following quesƟon in long answer. 
िनàनिलǔखत Ĥư का उƣर दȣघ[ उƣरȣय मɅ दȣǔजए।     
Q19. Explain the main reasons responsible for French revoluƟon?    4 
         ŉांसीसी Đांित के िलए उƣरदायी मÉुय कारण बताइये? 
Q20. What is the importance of dairy farming in the village?     4 
          गाँव मɅ डेयरȣ फािमɍग का Èया मह×व है? 
Q21. Plot the following places on the map of world. 
      A) Paris B) Mediterranean sea C) Suez canal D) Maldives E) tropic of cancer 
        ǒवƳ के मानिचğ पर िनàनिलǔखत èथानɉ को आलेǔखत करɅ। 
       A) पेǐरस B) भमूÚय सागर C) èवेज नहर D) मालदȣव  E) कक[  रेखा   

https://www.evidyarthi.in/




